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Multipliser med potens på ti (manglende tall)

6, 695 × ________ = 669.5 3, 02 × ________ = 3020

5, 297 × ________ = 529.7 1, 366 × ________ = 1366

6, 799 × ________ = 67.99 1, 023 × ________ = 102.3

10, 669 × ________ = 1066.9 8, 477 × ________ = 84.77

6, 748 × ________ = 67.48 6, 81 × ________ = 681

2, 01 × ________ = 201 9, 889 × ________ = 988.9

3, 564 × ________ = 3564 4, 386 × ________ = 438.6

4, 967 × ________ = 496.7 3, 301 × ________ = 33.01

4, 245 × ________ = 42.45 4, 071 × ________ = 407.1

4, 683 × ________ = 46.83 5, 797 × ________ = 579.7
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